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POLITICAL SCIENCE-VI
| Paper 6-1
( Public Administratior
Full Marks : 80

Time : Threeé hours

-The figures in the margin indicate

Jull marks for the questions.

1. Fill in the blanks with appropﬁate answer
given in the brackets : 1x10=10

(a)
(b)

(c)

--for-‘Data’.

Public Administration as a discipline_

originated in the : . (UK/USA)

The Minnowbrook Conference was held
in the year ______ . (1967/1968)

In the acronym ‘POSDﬁ,‘oRB’, ‘D’ stands
(True/ False)

Contd.



(@)

(e)

(9)

m

()

Write

(@)

The Human Relation Theory rejects the
formal mst1tut10ns

This statement is True or False.

has termed the principle of °

hierarchy as scalar principle.:

.(Max_.Weber/Mooney and Reiley)

The ‘span of control is more when the
work is of character.

= .
(Homogeneous/ Heterogeneous)

In Deficit budget, the expenditure side

is heav1er than the revenue side.
(True/ False)

______terms the auxiliary services as
the ‘house keeping services’.
(Willoughby/Pfiffner)

The fmanc1a1 year in India commences
on (Marf‘h 1/April 1)

' Budget estn"\ates should be based on

cash basis:. (True/ False)

in brief : 2x5=10

Integral view of Public Administration

21 (6) POSC-VI 6-1/G 2

(b) Two features of Scwntlﬁc Mzriagement
Theory

(c) Authority

(d) Auxiliary Agency

(e) Budget.

What is Public Administration ? Distiﬂguish
between Public and Private Administration.
2+10=12

OR

Discuss the scope of Public Administration.
. 12

.‘.

Discuss the Human Relatlon Theory of
Organisation. 12

OR

Critically discuse the- 'struetu'rall and .
behavioural features of Bureaucratic theory.
6+6=12

What do you mean by Span of Control?
Discuss the determinants of the degree of
Span of Control. 2+10=12
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OR
Write a note on Unity of Command.
12
6. State and explain the functions performed
by the Chief Executive. 12
| OR

What do you mean by the Line Agencies ?
What are the features of the Line Agencies ?
What are the different types of the Line
Agencies ? ' 4+4+4=12

7. How the budget is prepared in India?
Discuss. 12
| OR

How the, judiciary exercises control over -
administration in India ? ‘ 12

21 (6) POSC-VI6:1/G 4\ 1200



